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Continue these number patterns:

1)  23,26,29,___,___,___

2)  22,25,28,31,___, ___,___

3)  4,8,16,32,___,___,___

4)  23,30,37,44,___,___,___

5)  88,44,22,___,___,___

6)  40,35,30,25,___,___,___

7)  -8,-4,0,4,___,___,___


8)   6,7,5,8,4,9,___,___,___

9) 5,6.5,8,9.5,___,___,___

10) -17,-13,-9,-5,___,___,___

What do patterns 1) 2) 4) 6) 7) 9) 10) all have in common?
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Achieve

Simplify (if possible)

1)  28m + 6m2 – 20m + 6m2 =

2)  14w – 10m – 12w + 10m =

3)  3g2 + 9m + 2g2 – 8m =

4)  m5 x m4 =

5)  8g x 3g =

6)  5w5 x 7w6 =

Expand 

7)  3(w – 6) =

8)  k(k + 9) =

9)  4e(e – 5) =

10)  (g + 6)(g + 1) =
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Achieve

Simplify

1)  4m + 2m2 + 3m + 4m2 =

2)  18x + 8y – 2x + 5y =

3)  5m2 + 9m + 4m2 =

4)  m3 x m2 =

5)  5m x 4m =

6)  3m3 x 10m2 =

Expand 

7)  4(a + 7) =

8)  w(w + 5) =

9)  4m(m + 7) =

10)  (m + 5)(m + 2) =
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Achieve

Simplify (if possible)

1)  m4 x m8  =

2)  6w3 x 2w7  =

3)  5e2 – 4k + 2e2 + 7k  =

4)  m10 ÷ m4  =

5)  20g8 ÷ 10g6  =

6)  (w3)4  = 
Solve

7)  40 = 4w


w =
8)  2p + 1 = 9

p =
9)  m – 5 = 22

m =
10)  4(e + 1 ) = 40
e =
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Achieve

Simplify (if possible)

1)  5m3 x 2m4  =

2)  m15 ÷ m12  =

3)  4e2 – 4e3 + 2e2 + 7e3  =

4)  (w4)6  =

5)  (2e3)2  =

6)  24g6 ÷ 8g4  =

Solve

7)  16 = 4e



e =
8)  4p + 1 = 3p – 4

p =
9)  12 – m = 9


m =
10)  5(2e + 4 ) = 40

e =
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Achieve

Simplify (if possible)

1)  6m5 x 4m7  =

2)  12m8 ÷ 6m4  =

3)  3r – 9e + 12r – 6e  =

4)  (3w4)3  =

5)  (2e3)2  =

6)  24g6 ÷ 8g4  =

Solve

7)  16 = 4e



e =
8)  4p + 1 = 3p – 4

p =
9)  12 – m = 9


m =
10)  5(2e + 4 ) = 40

e =
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Simplify






   


Expand

1)
6a4b3 x 2ab7 = 




6)
m(2m2 – 5) = 

2)
(3ab4)2 =





7)
-4p2(2p4 + 3) =

3)
12m4n5 
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 6mn5 = 



8)
-2p3(5q – 7) = 

Factorise  

4)
(2a2b)2 x 4a4 =




9)
24m3e4 – 32e5 = 

5)

[image: image2.wmf]=

´

p

3

8

4

p

3

2







10)
16m3n – 20m6n8 = 


Simplify







Expand

1)
3w4e6 x 8w5e =




6)
3p2(2p – 5) = 

2)
(4f2)3 x (2f)2 = 




7)
-4m(8 – 3m) = 











Factorise

3)
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 = 




8)
m3 – 20m2 = 

4)
14j4k5 
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 21j6k = 



9)
18x4 + 12x2 = 

5)
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10)
14x2y3 – 28xy3 = 


Simplify

1)
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2)
64a2b3 
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 16ab6 = 

3)
 (3p2)4 x 2p4 = 

4)
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Expand







Simplify

1)
p4(2p + 3) = 





6)
8p2q4 x 5pq7 = 

2)
3m2(2m3 + 5) = 




7)
(3m4n7)3 = 

3)
9m2n – 6mn = 




8)
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4)
4m4 – 16 = 





9)
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5)
Make x the subject of y = x2 + 7
10)
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Solve by rearranging



Simplify

1)
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6)

[image: image14.wmf]=

+

3

a

3

5

a

4


2)
3a + 7 = -5






7)
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8)
3p2 x 12p7 = 

4)
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9)
(4a2b4)3 = 

5)
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10)
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Solve








Simplify

1)
9 – m = 5m – 15




6)
2a5b2 x 12a2b2 = 
2)
p + 7 = 2p + 66




7)
783x4y5 
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 243x4y3 = 

3)
2x – 18 = -3x + 42



8)
16g24 
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 8g14 = 

4)
3x – 24 = 6x





9)
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5)
2m + 5 + 3m = 6m – 12



10)
(5x4y)5 = 


Simplify
1)
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2)
3(2a + 3) + 4( a – 5) =
3)
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Solve:    6)
3m + 2 = 8m – 12

7)
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9)
4(x + 3) = 5(x – 6)



10)
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Starter




















Starter





Starter





Simplify


1)	-3a2 x 4a5 = 





2)	4e2f7 x 2e3f = 





3)	� EMBED Equation.3  ��� =





4)	18m4n5 � EMBED Equation.3  ��� 9m3n = 





5)	� EMBED Equation.3  ��� = 





6)	(2ab6)3 =





7)	� EMBED Equation.3  ��� x � EMBED Equation.3  ��� =





8)	� EMBED Equation.3  ��� – � EMBED Equation.3  ��� =





9)	� EMBED Equation.3  ��� + � EMBED Equation.3  ��� =


10)	� EMBED Equation.3  ��� – � EMBED Equation.3  ��� = 











Starter 





Starter

















Starter





Simplify


1)	4x2 x 5x6 = 





2)	p3 x p4 x p2 =





3)	a2 x b4 = 





4)	c3 x d2 c2 x d5 = 





5)	2m2 x 3m x m4 = 





6)	8p4 x 2 x p6 =





7)	e3 x e7 x d4 x d5 = 





8)	2p2 x 5q x p2 x q =





9)	10m5 x 2n3 x m4 x 2n2 =





10)	  0.5a2b x 12a4b5 = 



































Starter





Starter





11)	� EMBED Equation.3  ��� = 





12)	� EMBED Equation.3  ��� = 





13)	� EMBED Equation.3  ��� = 





14)	� EMBED Equation.3  ��� = 





15)	� EMBED Equation.3  ��� = 





16)	� EMBED Equation.3  ��� =





17)	� EMBED Equation.3  ��� = 





18)	� EMBED Equation.3  ���=





Starter 





Starter








Starter





Starter





























Factorise











Solving linear equations





Starter





Starter





Starter





Simplify


1)	4a2b3 x 5ab7 = 				 





2)	(3p2q4)5 = 





3)	14p2q3 � EMBED Equation.3  ��� 21pq5 =  





4)	Expand (x – 3)(x + 5)(x + 2) = 	 





5)	� EMBED Equation.3  ��� =  





6)	� EMBED Equation.3  ���=





7)	Expand 3a3(7a2 – 2) =





8)	4(5m + 2) + 2(7m – 4) =





9)	� EMBED Equation.3  ��� =





10)	� EMBED Equation.3  ���=
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